
ffibwooirf"''.,, .,g,'

aJ.(i l,rr r:aF..\';r I-'!F!ilit \trorlfrr 1,t1i l,*$i':44\ r\ ill:F n . ',' i;f
-";.?>o\ i1'lllh'# i.": y'Sdffi nhnnf.S3UL

2021p.
qLnFuLbnh'qLuL

,,(U3flUSULh UQqU3r,L Uqf UlU3hL <UttULUUlUL, (hl.Jl.lU'lT'Utth 2021rd. F3nNAbh [JhAnSLbnh <UC.lht,

$btftutr unup!tu1[
elduti 6tr

(ptrpugrull
unq)

Qtur{rrlurtr

rlfrrur{npp

Ufrru{nplr
qhtrn

Pubu!p Ctt4,ut tlblp 6ru ]uubpp
(huq. <( 4pu{)

Uf guLg[t|-1

11n4p' purn

CPV

rluuur!tupqdru

tI!{utrnrrlp

uqnuLeLb0

ephLruQtutr qf m nqplbp; mquqprulutr
urrqnrulpbbn Lr trqnrpbp, qppbp

:101976)) pnLqp. 44 $npduLn[ <t/ !q 600,0 r 000,0 600,0

301 97646 ;anrrlp' A.3 $nprlLuL.nfr
(l< Ir,i /00,0 11,5 B,0li

30r9761i0 ianrq3r' o$ut,;au1hlr cl< !ct /00,0 ').0 14

301()7 C)47 pnLrlp' o$ul;;ar-u1[iL, 60q o/ !q 900.0 43,0 3U.7

l0t9l(;4ii ;anrq1a' o$,ut; JaurlitlL, 1 20q (:t / tttl r 050,0 100.0 105.0

2299il 9u 11LrL.{6uqr-um pnLlp L\/ qq r200,0 r50,0 rij0.0

30r 9762r $1[qlupunf pnrqp Uq 2 300.0 )-.0 46

3019)/ 40 pnLrl;-a clnLUu{np. A4 dhLuSuqhfr a)a trq r 400,0 1,5 2,1

30r 9940t) unuLrlurqumL{tr} !Lud !qlnrtr pnr r1p (ia
hu-rr.r-r :i0.0 u0,0 4.0

39263200
qpuuiillu!ur1fll qhnp. duLrlr"uL, 70 2001.9,

LnnrlurLfr, uqf nu! lgLpn{
q< hurtn 650.0 70.0 45,5

30r 921 30 r)uLrtf LnLhp (l< huuut 50,0 300,0 r5,0

l0r!12r00 r)tlUrfrl hLUuirnutl a.a huur 100,0 175 0 17.'.)

301 921 33 upflLt,p q< Ir uu ur 100,0 90,0 9,0

)01921)1 rgplri qLrplrllurlnp ()r IruLl 100,f) 570,0 57,0

301 92 I )t qpfi t1LrlIL1ur[np q< hurn 100,0 195,0 r9,:i

301 92r 21 qphi qLrifrqurqnp ci< huur 100,0 375.0 37.!)

3019212t1 qpfl qt,lLulfrir (:i < h LUrr 200,0 290.0 Itu,0

30r 92r 2u r1p[i qb1ul[r c\a hutn 200,0 70,0 14,0

30r92r2il qlrfri qtilLulIir (\/
hLuLn 200,0 13,0 ).,6

t926341 0 ut)pu!. rfnpp (\/ rrn L rlt 150,t) r00,0 1:; 0

3!1263420 ur)pu!. dl;b g< rnnrrI 250,0 ),0 0,5

3019212ir r)u1rl1t;1rL[,p q< hurrl 120,0 r 20,0 144

301 !l2l2ir rlupllt,lrLt,p ()<
h r-u Ln 200,0 113,0 22,(

.l0lll2lri0 2mpIuLhp q< hurrn 200,0 r20,0 )_4.0

3t)199420 ;a n r 11 1a !2 n r L1L l; p fr h Lu Ll u p, u n uLd i.{ u6p n L{ q< h r-u ut 150.0 )-20,0 330

30r 99430 1,,nr r11a I,2nr rlLl,pl r. rr rpgul liLltpn' I
q< lrurut 700,0 90,0 63,0

101927r0 r n uLd u,r) r rrr r f . r t. r1 p r urr l,Lj u | 
1 
r-uj 

I 
rli (l< hurur )50 0 4.0 r0

301 927i 0 unuLduduurfrur, qpuuLiLlLr!Lulftl q< h ur u't 300,0 150,0 45.t)

24 91 1 200 unulrLd. I.t)nrlulrLu q< tlq 13000 57.0 741



301 91231 fd qla Lu ul LUL LU q, u.l n Lh d tr n uij hL pLu rLurl p, hLuJ t
(\/

h urr.n r0.0 3 B00.0 3U,0

3())41)10 d L1 p LuLn, qpu u LrLl u !Lulf rlr or h urm 300,0 30,0 90
'.19241)10 rlllpurur, qpuuhlLlLullurl[rtr ()a lrurn 450.0 2,0 0,9

l0t 97r l ) Irnhth d[rururlu-r1upL Quru1t,p, df gftlr (')./ rrrnrrfr 120,0 r60,0 lC) ?

30r97100 !rnhlh tlLurLurlu.rlupLi 11uLulIp. tl[r) rl< tl n r r-fr 350,0 10,0 3,5

301 9t321 [Lrpftl, r)[11[ 20 pt,p1.tft hLur)up (1.4
h ur r.n 550,0 10,0 5.5

:t019/340 rlr {1.lulq uJ rrn!
cI< h ur r-n r50.0 I5,0 )...1

301 97233 prlpuquLull, pblnL{, prplLu hu-rm r00.0 285.0 28.:t

301972,J4 1.arll.rLuulLuL u!, ln2i"n ! Lurldn{ q< hurur /00.0 /0,0 4 9.0

DtJ5l)00 prlpLurquLLu!irl,p o-/ h r"uin r50.0 ?,.0 u.3

)).t\51).00 pr1;aLuuluLuLlLLip <\/ hr,utn 800,0 20,0 16,0

.\0197 )3) prl f)LU uiurlu tl, Lu p urquull Lu p. ;ar11a1 ur
(l<

I rurut it0.0 4 410.0 352.8

22f151100 upuqu!upuLrp (l/ huut 70,0 50.0 l.1i

'.)9) 41141 11 uLu!' qp uu i;tr1 uL1 u-r1 f L
C\/ h uur r20,0 30,0 3.6

)9 )411 41 11 uLuLl qpuul,Llutlurlf L (:)< huirt 150.0 15,0 2,.)

3 0 r 92230 u!n1' t,p!LlnrlJuLf unuLdL{r"ur} (\/ hurin r50,0 30,0 4.!t

30r 92230 u!n1' bpLlt.inrlduLfr unulLdr.{Lud o/ huLn 300,0 20,0 6,0

301 92231 ulln) q< hr-um 50.0 30,0 1,5

30 r9.1)31 u[1n1 q.< h r,u ur 1:;0 t) 25,0 3B

30 r 9223 1 u L.l n) {)/ hruLl 450, O 65,0 29,3

3019)).4'), ut1n1 ;ar1;alur
q< hrutl 400,() 16,0 64

3 9263:i1 0 ubrldu!, rfnpp a./ lrurrn 15,0 300 0 4 .:i

3 9263530 ut,11rlLrt1, dbb q< huLn 200 150.0 3.0

30r 927U0 [pLupLuciurLl tS
:l< h r"u rl 200,0 t 4,0 2.8

39)9),510 I)LuLnL, uliL!umhtl (\/ hurrn 120.1) 10,0 1.)

30r41200 I r Lu2L.{Lu u urpp. q 
1t uuu L;L1 u! ur1 

| 
tlr o/ hun 3 000.0 ),1,0 63,0

392it3100 qpLuuhulLu!Lulft! lpuluqd :l< fr r-u tr t 1 600.0 12,0 19.2

l0r(l)tJt dt,luurl[!u!uL QLud up{n11 duurftutlbp (\/ hur-n 1 500,0 :1,0 4!:

30t 9?1 3r LltiluLuLf LluLluL QuLl up{n11 duLnirmL[,p a/ h ur Lrt 200,0 r5,0 3.0

101 921 31 dt,fuLutr[!u!LrL lLud upr.lnrl durrILrLhp CI. / hr"uil 200,0 18,0 l,(

30192r3:i qpu$[ml, Llfpnr!, r)urnflLn[ hudup o/ Lnn{ Lltl 70.0 20.0 14

22il r r :i0 Lr n rdu ur tr L| 11u rr
o/ hun 1000,0 9.0 9.0

22tll II50 L n 1,rr-umt, rnpi, p (l< huur 2 000,0 5.0 10.0

22ilr1r50 UnFlu]rnUi,rTltrT) q< it L1.r m 2ti0,0 60.0 15,0

301 99792 ulr urq rr Uq [,lr
q< hutut 2 000.0 5.0 10.0

22f11 I15i) L nyaurr rl, rnp lrp (l< l'ruur 2 400,0 8,0 19 ),

301 99792 onurqnqqfrn (l/ hurrr 800.0 11,0 ft. tl

39263320 :puqnrlg, quLnfr o/ huLn 1 000,0 14,0 14.0

301 95920 tluqLf uLullLrL qpurru[utruLlLt;p 9< hur.n 20 000,0 2,0 40.0
'39)l)')t)0

1p u-rmulrmLutll bpfr d uppiril hp hurut 700,0 ).4,A 16,t]
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q p u-r Ln u-r 
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!urd qupuqLulLp
Ct/ IturLn /50,0 1,0 0.8

I9tJ3 r2l4 i;!nuLlr dcuppdLuL L1nL;ahp cl/ hlurn 1 000,0 1,0 1.0

1019).1)7 lnrurrrrnl rflun (\/ hum 600,0 9.0 lt.4

019923ti LLuLlu!ft dpup. A6 dl-rLrluLf fr
q< huLn 12,0 r00.0 1.2.

301 99230 Luduu!ft bpup, Ali dhuyLrf ir
q<

I r ur r.rr 25,0 100,0 2.it

301 921 ir4 !LftpI lpuqnrq[1 pupdit!Lirp hurm 2 300,0 ).,0 4,6

l7{12 r 1 90 qburqpLltquu16t,L (!u1t1u) .l<
d tiLr rp r 20,0 80,0 9,6

3:ttj2r 4 00 +nn2urin
(l< hurur 7 000,0 r0,0 /0,0

301 92320 mqf lL t, pit cluuul u{f:LL t, p (I/ hurm li 200,0 4,0 20, ii



30l97irl1 u Ln qurn urfln I rlp (l<
!q 1 100.0 300,0 330.0

)) 611 400 L t, p t1 t p ur u1r-urlp Lu ! uL Ll t, p t-:L LuL Li p ir h u d u p q< qq 80000 2,0 16,0

)),611 4OO Ltrp ! t, p r.nulurrlp Lu ! uL d L,pt;L uL bp fr h Lud u p q<
!r+ B 000.0 2.0 r6,0

30r927iio p n rd {frl[1 q-< prl 2 000.0 150,0 300.0

42991 1 60 mulLuqpulul utuppt.ipir duutip [r rqLrpuquLLp (:l< huur 50 000,0 1,0 50,0

)) 451)1 O qfqlndubp tJt.l Irr,ut.rr 2 70(),() r 500.0 4 050.0
))1111)0 rlpuqurprrrLf qppt,p cl< hurrl 22 000.0 7,0 44.{)

2)1111)0 qpurlurJtuLI qppL,p q< hurn r5 000,0 )-.0 30. o

)019i$),), 1anLr11a, A4 $nptlutrfr (\/
tlr+ 600.0 60,0 3 i,. (l

l0t 921 30 r)t t rrr tfr rnL t,1t ().. / h urur s0,0 7,4 0.4

30r 99430 pnrrl;a L2niJLLpfr, mpgurLlLbpn{ o/ htlur 700,0 4.0 )t\
30r 99420 ;'ani111a L2nLr)Lbpfr hiudup, unuLdL]ubpnLl (:t / Iruur t:i0,0 6.0 0,9

30r 921 00 n[.im[L hLuuLupurt1 q< h ut L.rt 100,0 4,0 0,4

301 921 33 up[lLtp q< hr-uur 100.0 3,0 0.3

301 921 21 r1plrl tlLrylrtlurlnp q< hurrt r 00,0 )2.0 ),.2

30r 92121 qplrl tlLqlrlltuL{np hurur 100,0 3,0 0,3
3019)1)1 qplry qLrllrtlur{rrp a/ hLr Ln 100,0 6,0 0.6

,1019)1)t\ qplrl rlt,lu'1lrtr t< huril 200,0 25,0 5,0

3019212t1 tlplry qL1uulIIr (\/
h u,r rn 200,0 r2,0 ),4

39) 411 41
1 
LrLuiLl qpuruilr1u!Lu1lrtr q< Ir r"u ur 120.0 3.0 04

.t9)_41)10 r)!pLum, clpLru t,L1 u11 u.r1 fir q< h u.r tJl 300.0 2.0 0,ri
30197.l).) Llup[1, 20 50 pt;ppir hudup Irurtl r :i0(i.0 ),.0 3,0

301 97323 !Lupf 1, 50'Iq uLL{b1fr pt.ippir hudLup o/ hur rn 6 500,0 r,0 6,ir

3019711), Urnhih r)hmuquluph lurqhp, dfrgfrL (\/ urnr{r 120,0 4,0 0.:t
30r 971 00 tlupitilr r)lrrnurlulupb LluqLp. rlt,h LL' Lnnrf 350.0 4,0 1.4

301 921 60 2ur p frluL L, p o/
h u-r rl 200,0 3,0 06
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1

a). / h urur 10,0 300,0 1,0

3Or92r2li r)upl1l, pL U p huin 120,0 3.0 04
228111:t0 u n pur(rti nrlLrl q< h uJm 250,0 5.0 1,3

30r 92/80 I.9w1.:uduLlr; (i<
hLu rrr 200,0 4.0 0.8

192{i3:it0 uhrlt)u!, rfnpp c] < iturrfl r:t,0 4 U.0 0,7
392ti3520 ut;qdu!. d[2[tr q< Itulur 1:i,0 48,0 0.7
i92i;3530 ut,rldu!, t)t,<) (l<

Itur r.l 20.0 48,0 1.tl

:t019).1),7 qn:urnn r Lf trn huL't 600,0 ').0 t.)

30r 93200
Lf Luu uru;a11;abp fr h uLlurp Lr-uluium L u {ub,
ut,rlLuLf ,ln, +n,tnrL rlLupuQu2LupIp

hurrl 2 500,0 2.0 5.0

)),t\51),00 prl1.auquLuQLbp q< Itu.r r.rt 800,(l 2,0 I,tr
30r4r200 h ur2rluruulnll, rtrp u u LL1 u! u1 frir

(\/
h urLn 3 000,0 1,0 3,0

7 383,4
(ur rlu.r ! ur pqlul[rL m bfu trlr! w,
rqwhbuuutftuubp

3021 1 1 90 LuLdLu!uL huduu\upq[5Lbp (I/ hurrn 2fl6 000,0 1,0 2{16.0

3021 1 200 rllnLpLu![p huduQLupq[1LL,p (l<
hr-u ur 364 400.0 1,0 364,4

3t)2| 200 r;nLpLu!f p hLrduu!uprlirlubp q< h Lu r.rl 400 000 0 1,0 400 t)
302391 00 u 1urLn6l,L uh rulr r) uli J t,pLL t., q< hurtn 190 000,0 1.0 190 0



302391r)0 ulurLn6lrirLuh urL L.lwL d bpblu (l/ hurm r10 000.0 1,0 110,0

3023 9 r 00 u1 Lum6bL uhLr.rLd uL LIbpL;L u, o/ h ur r-n 90 000.0 1,0 90.0
302391 00 ulu116hLuh urL t.luL d hpt;L u, (I/ hurn 90 000.0 1,0 90.0
.la)..17 490 h u-rr) Lr! Lupr11ur1 frl dnL I mn p {l/ hurrr 65 000.0 3 195 0

302391 00 quu16l,LLulr Lr:L r )wlr d L; pt,L ur Q/ hr"u t,'t r90 000,0 190.0

l02r 1 200 r;nLpu!irp hurL)uu!upq[1lbp q< Iturut 240 000,0 6 14400
it)239100 t.L1uLn6t,Lu h uL rlLuL d t,pt,L u, (1. / lrcum 90 000.0 90.0

lrii4 r r0o
h url url upL p Ll utL l, 1t, ! Lrrp Lu L1 LuL

uLuppLuL]npnrdLL'p
q< huL.n B 000.0 1,0 8.0

lt 041 1 00
h u1 urirrupt, p r) r-uL ht hInnut] uL

uurppurlnpnLr)Ltrp
ci.< ir u.r rr t 4 U00,0 1.0 4.0

3021 l25t) tu2l u urrrr"ul pLu.l I rL t1 Lu.1 urir g< hurur r3 000.0 1,0 13.0

30).a4()40 $1t-i2 h[2nqnLp1nrL, ] 6G13 q< h urLrr 5 000.0 6,0 30.0

30236r 00
hLudLu!Lupr1lf hf 2nrlnL;alnLLp dt;<\uqLnrl

uurnphn
(I<

h ur r"ri 42 000,0 2.0 840

302361 00
hiudu!upqi[ h[2nqnr plnrLp dt,6r-uqLnrl

uurppt,p
g< huLr 30 000,0 5,0 150,0

30236r 00
hLudu!upqyfr hfr2nrlnLp1nrLp LILidtuqLnq

uurppl,p
g< Itur-n r5 000,0 30,0 450.0

3023iirti0
oultrputrfrt.{ hfr2n rlnLqu! purnLrrtrfr

({hpuqfLnLd, rrrt,qu4pnLd)
q< h ur r.n 1U 000,0 15.0 270.O

)1)).1) 3O dIuqduL du;nrluLbp rtr
h urLr 2:i 000,rJ r0,0 )1i0.0

11D1)30 LIfLuqduL dulnrluirbp (\, a ltu-rur 40 000,0 1,0 40.0
44163)50 dIut1g[5 /!nLt,!mnp/ udpr"uglnri. uurpp C\/ hr"urn 20,0 1 500,0 30,0
44163).50 rlIuL1q[1 /!nutr!rnnp/ uLlpr-uqLn1 ur-upp (i/

hurLn 10,0 100,0 1,0

3r0{i1400 dt,!nr uf y d uu.lurLlbllrLp q< huur 150,0 30,0 4,5
44it11)40 upquLLt,p (l<

h lu rtt 20000 2,0 4.0
4416.1)ii0 dftutlq[1 /!ntrhtlLnnp/ LudpuqLnq uiupp q< hurLrt r2 000,0 r.0 1)_.0

316{lr7il0 pruduLupu.rp urnr(r huLn r0 000,0 10,0 I 00,0
31(;tlrl00 pLuduLr"upup mnLf t\/ hLULn 5 000,0 5,0 25,0

-11)).1).JO dIuqLlLuL dulnrlulbp (\/
hu-rLn 1 000.0 20,0 20.0

.11))1) 30 dILrqLlLuL dulnr luLLrp C\/ h u.rLn r 500.0 10,0 15,0

30) 37 460 h udLu!u pq1ul irl u urbrllLr2up bp o/ huur 2 500.0 30.0 75,0
10),:17 4t1 rl!Lft!, htuLlu!upq1url[1, lupn{ (\/

hurr.n 2 000.0 30.0 60,0
3i123/1 l3 i1 nLLLlrnrrp (Llqrr1rr1Lb1r) q< hurrn 5000 4.0 20,0
i0r 21 4 60 rn nL t, purlirL pLup tl p frgtrbp q< hurm 2 500,0 r0,0 2ti,0
.l01)1460 LnnL l, p u1 f l.r pLrLp mp f 9L Lip hr-um 2 500,0 5,0 1)-.l)

-lo1)1464 mnLhp url[L pLuprnp[gL Lrp q< h u,rrn 2 500,0 20.0 50,0
30r214fi0 rr nL hp ur.1irl pLup rrp fr glii;p q< hurr (i 200,0 3,0 18.6

J012r46t) rurnL [,p url frL pu]nr.nn|l gL tin c)< h urut 5 400.0 3,0 r6.2
301 21 460 rnnLLpurlfrL pulrtnplrgtLt,p (l<

h uir-l 2 500,0 20,0 50.0
30r2r460 rrrnLhpLrl[L pLupurpirglhp g< hurrr 3 000,0 :t,0 15.0

-)0):17)00 hur)uLlupq f lLLp[r rrlLuptirtluLLp (\/ hurr ti 000,0 ').0 t)0
30237200 hudLuLlupqfrllbpf qupLrqLuLL,p C\/ hurur 900,0 20,0 rB,0
30)37)00 hudulupqftllhpfr ulurpurrluli;p a)/

fr uu rl 840,0 40,0 33,6
:)0'),1/).00 hu r) Lu L1 upqf l!tr pI qiu ptuqu.lL L:p (la

hr"uur u40,n 40,0 33,6
3A)37)40 hudLu!upqf iLIpI LqLupuuquLL,p g< huLn 1 500.0 10,0 15.0
'30).lt)00 hudulupqirlLt,pI rqLupuquult,p c). / h LuLn 990,0 r0,0 9,9

"10)37).00
h u d u I urpq [1] tr p fr u1r-up uiq r-ul t;p Q/ h urut 1200,0 li,0 ti,0

.10)-)/)04 hLrduLlupq[1LL,pfr LilurpuquLLp nL!ut r 800,0 2,0 3,6
30)..3/),00 hLud u! upclfrlLb pfr u1r-u prucluL tr p {\/ hurlr 2 600,() 10,0 26.0
.J0),.t7)0a h urdr^ui1 rrprl IiL i;p fr uiurp LuclwL t, p (i/

h urm r ti00.0 15,0 ),4.0



.10).17)04 hudtrl uipq[11 t;p ft ulurp uqu![ p cl< h r-u u't :i 500.0 4,u ')),0

30).37).00 hLuduLlLupq[;LbpI qupuquLL;p Ctf heum 1500,0 5,0 7,5

:Jr)1,).23)() mulftlLhpI du-ru1u{t,LLhp (1/
h urm 2 000,0 1 0,0 20,0

301 92320 mu1[1LbpI dLuqu{l";LLbp hurur i 200,0 13,0 i 5,€i

301 92320 mq[11 Lipft du ulLu { L;LL t.; p l\/ irutn 4 400,0 ?n r3.2

301)1470

mnLl,p 1uc1bpLu1[i.r

m q [1L t, p [/h L nLu u.] LU m6 tiir ur h uL n 11 d bp t,L uL bp I
nr.lruLUn

<)- /
Uq :t 500 0 40,0 ),)0.0

301)14/0

rrnLhp luqhptul$r
m q 

f 
r 5L hp f 

r/h ti n u r.q u.r 1116 hl-r u h urtr n rl d t;p hL uL hp fr

hLut)up

()/ tltt 5 500,0 10.0 55.0

301)1470

LnnLLip lLuqUpulfL
uulftiLt.;pfr/ht;irruqu-rLn6l,LrLlhr-ulnq dLpLiLuLl,pfr

hurdup

(l(
Itt 7 000,0 5,0 35,0

'301)-147 0

LnnLtip luclbpLulitL
m u1 [iL bp [/h b n Lu q u Ln6 t:L u h uL n I d t, p bL uL tip fr

nurdLrTl

<\/
Uq li 500,0 3.0 1 ii,lr

.10121470

rrnLbp lLuqbpLrlftlr

rr rq it5L bp 
f 
t/h h rru ur1 r-u m6 hL u h LuL n q d bp t,L uL bp fr

nLuuLr.rn

('t. /
Uq s 600,0 5,0 28.0

'301)14i0
mnLt;p luuqbpulfrtr

Ln u1 ftll L p [/h I rr u q tu Ln6 irL uu h uL n 11 Ll li p L;L uL Lip fr
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